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Problem Set 6
Due:  April 16, 2012 

10 points

Show all of your work.


In 2009, you spent 2.2 yuan in the morning at school on a dan bing (蛋饼) 45 times and 8 yuan on a milk tea but bought only 32 of those.  For lunch you often had a Coca Cola at 3 yuan, 60 of those and also often bought a niu rou mian (牛肉面), buying 48 for 5 kuai (yuan).  

In 2010, you spent 2.5 yuan in the morning at school on a dan bing (蛋饼) 43 times and 8.3 yuan on a milk tea but bought only 24 of those.  For lunch you often had a Coca Cola at 3.2 yuan, 50 of those and also often bought a niu rou mian (牛肉面), buying 55 for 6 kuai (yuan).

2009 is the base year.


a)
Calculate the CPI index for 2010.  (3 pts.)


b)
Calculate the inflation rate for 2010.  (You must have tenths of %.) (2 pts.)


c)
Calculate the implicit price (GDP) deflator for 2010.  (3 pts.)


d)
What is the adjusted-for-inflation product level for 2010?  (i.e., Real GDP)  (1 pt.)


e)
What is nominal GDP (aggregate output) for 2010?  (1 pt.)

